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1. Visualise 3.765 on the number line, using successive magnification.
Solution:
€ | | T T T | | | >
-3 = 1 O 1 2 3 4
L I * -'l;—'
I
J/f'F —H\"
€ I T T T T T T T T T I >
3° 3132 3334 35 36 3.7 3.8 39 4
) .
I
J//J- -H\'I
ST T T T T 1 | I L
3.73,713.723.73 3.74 3.75 3|.?6 3.77 3.78 3.79 3.8
&, T
s Sl
J//F -Hﬁll
3.76 3.77_
- I Ll L |

t

3.765

| 1 1 1 L |
3.761 3.762 3,763 3.764 3,765 3.766 3.767 3.768 3.769

2. Visualise 4 .26 on the number line, up to 4 decimal places.

Solution:
4.26 =4.26262626.....
4 .26 up to 4 decimal places= 4.2626
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